Reading Practice 17

1.  Henrietta's flock of backyard chickens produced more eggs than her neighborhood.
Please choose from one of the following options.

A.  No Change

B.  the rest of the neighborhood’s chickens.

C.  her suburb.

D.  her friend, Sean.

2.  If I had to compare the plays of Arthur Miller and Shakespeare, I’d say Shakespeare’s are best.
Please choose from one of the following options.

A.  No Change

B.  to Shakespeare, I’d say Shakespeare’s are best.

C.  to that of Shakespeare, I’d say Shakespeare’s are better.  

D.  to those of Shakespeare, I’d say Shakespeare’s are better.

3.   According to some scholars, T. S. Eliot's later poems are more powerful and incisive than his early career as a writer.
Please choose from one of the following options.

A.  No Change

B.  the time he spent previously on his writing.

C.  those written at the beginning of his career.

D.  the energy he invested in his early poetry.

4.  The foreign investors acquired the land for passive investment rather than park.
Please choose from one of the following options.

A.  No Change

B.  for development.

C.  develop.

D.  to park

5.  Nutritionists disagree over whether sugar or eating artificial sweetener is worse.
Please choose from one of the following options.

A.  No Change

B.  artificial sweetner

C.  consuming artificial sweetner

D.  the consumption of artificial sweetner 

Answers

1.  B   the rest of the neighborhood’s chickens.

2.  D  to those of Shakespeare, I’d say Shakespeare’s are better. 

3.  C  those written at the beginning of his career.

4.  B  for development.

5.  B  artificial sweetner 

